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EUPHRANOR.— Tell me, Alciphron, can you discern the doors,
windows, and battlements of that same castle 7
ALCIPHRON.— I cannot. At this distance it seems only a small
round tower.
EUPHRANOR.— But I, who have been at it, know that it is no
small round tower, but a large square building, with battlements
and turrets, which it seems you do not see.
ALCIPHRON.— What will you infer from thence 7
EUPHRANOR.— I would infer, that the very object, which you
strictly and properly perceive by sight, is not that thing which is
several miles distant.
ALCIPHRON.— Why so 7
EUPHRANOR.— Because a little round object is one thing, and a
great square object is another. Is it not ?

— G.Berkeley “Alciphron — or the Minute Philosopher” (the
4th dialogue, §900)
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e 0AD A°000DO0O0DDOODDOODOD A:=4°U0AD AODODDOO
D000000D00000000000 A000O (closure) J00O0O0O0DO D
gboooogooo.

0 1.8 000000000000000000 AcCcOoOoOoooonoo
00000200000000000000000000 A4°00
0000 9A0D000OO A0

e AJOODODOODODOOUOODODOOOODOOODODOOOODODOADD
O (bounded) 0000000000 OODOOO0OOOODOOOOOOOOOOO
0000000000000 000000D00AO0DODOOOO (compact)DO0OO
Doobobboobooobo boogbobobsoboooboobonoon
oboouobobobobooboboboobobobobooboboobn
oooboooooobobooboboobobooooboboouoobg
0oo0oo0oooooooot?

OoboooooobooobobooobooboobooMOobOooooo 200000
gbbogbbooobbooboobboobd 1200 1.300000booaaoon
MOODOODOOOOOOOOoOOoOobOoobooboobooo

Ooodb 1100 1200 140000000000000MOODODODODOO
obooooboooMOobOOoooOobOoooobDoobobooobobobobooo
goooobbbooogobbboooobbobooooobobboooobon
gboobooooobobooooboon

(M) MOOODOOOOOOOOOOO

(M2) MO COOOODOOOODODOOOOOODOOOODDOOOODOODOOOODOO
goo

(M3) MOOUOUOH,,OODOODODOODOOOOODOODOooMOOOOODOOoDOooooGOg

20p0o00000000000000000000000000000000
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(M4) MOOOODODODODODODO0DO0D00000000000O0000000o0ogoooo
obobooboobooboobooon

(M5) D0DODOOOO0O0O00ODODDODOOOOOOOUODODODDOOODOOOOOOOO

(M6) MOODODDODOOODDODODODODODOOODODOOOOOO

gobobobbbouodgogooobboobboboboboooooooboboooon
obobooMOODOOgoOoOobooooboobooboobooboboo

00000 DoooooMl)MOOOOOOOOODODODODODOO MOOOOOO
obhobooobobooooboboobobo0obooboHnt: 0000 O0ODO

b0 MOOobOooDooooooooboobooboo

00 1.4 000000000 MOOO ROOOOODOOOO [-2,1/4)00000
obooboobooboobooboobon

Dbooboobboobooboobboobuooboobobooboobbo
oboobobbobooboobooo

0O0. (0D 1.4) 000c¢>000000000000000 C,=C,(c)0000
D000000000000OdooogG,>C,.,>0(r>1)0000000000
Ch1=C2+c0O0O

Coi1—C, = (C24¢)—(C>_,+¢) = (C,—Cru)(Crh+Cry) >0

0000000000000000000000 ceMOOOOOD0O0O000OO C, =
C,(c) 00000000000 z=1mC,>00000008C, 000000 0
r=224+¢00000000000000000000 ¢<1/4000000000
O0c¢>1/400000 ¢,000000 1.200000 MNRC[-2,1/4 0000
0000000

00 [-2,1/4 cMNROOOOOOce[-2,1/4/0000C,=0>—-2000

Coy1 = C?>4¢c > c > =2

000C,>-200000 n>0000000000000 z=2*4+c000000
00000 B.:=(1++v1—4¢)/2>000000C,=0<4 0000000000
0C,<fB.(n>0)000000

Cop1 = C?4¢c < 4c = B

00o0oooooo»>00 C,<p. 0000000 |C,|O00000000DODOO
0000 ceMNROOOOOOO [-2,1/4]=MNROOOOOO0O |

B00000000000000000000000000000D0D00000000000O0O000
go
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oobobooooMObOoobooooboobobooobobooobooooobo
0000000 (C)000 Cule)DODODODODODODODODODODODOODODODOO

gboogbogbogboobooboobooboobooboobooboon
obobooobo vbobooboboobobooooboboboobobon
oooobuoobooboobboobooboob0 MOObDoooboobooo
oboboboobooboobooboobn

1.4 00O00OO0OO0OOO

DoboooboboooooMObDobogoooboboboboboboooMO
gobbobbodggoogobbobbbodooogobboobboooouoobooon
gobbobbbuooogobbbbbodoooobobbobbbouoooobbobon
gbobobboobooMUObOoboboobobobobobooboobobobobo
oboobooMOOODOO
oooboboboboboobooboboooMbOoboboooboboboooog
gbbbuoogobbbuooobobboooobbbuoooobbodao

1.4.1 0O00OO0O0OOOO

00000. 00000000000 Cule)000DO0ODODOODODODOODOO
0000000000 ¢c00000D0O0OO0OO0OODOYO00D0000000000 20
0000000000 (Zz)0boooooooooooooo

Zo=2 Zpp1=2:+c (n=0,1,...) (Z)
goodgd
z, 22+, (240 +e, ((z2+c)2+c)2+c,

000000000 {Z},,, 000000000 ¢c0000000 20000000
00000 Z.(e,2) 000000000000000000000 ¢c0000000
00000000000 Z,(:)000000000000000000000000

YOoooDoDO0O000000000000000000000000000000000000000
OO0000Oo0O0boopoOooooodbD“racle’00000OOO0ODOOOOODOOOODOOOO
O o000000000000000000000000DO00000000000000000
gboboobOobooooobooooboobooooboooobooboooonog
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gooooo
Zo(z) = Zy(e,z) = =z
Z1(2) = Zi(e,2) = 22 +ec
Zy(2) = Zyle,z) = (24c)* +
Z3(2) = Zs(c,z) = ((*2+¢)* + ) +c
Zy(2) = Zyle,z) = (P +c)*+c)*+c) +ec
gogd

00000 (C)0000 (2)0000002=000000000
Cn(c) = Z,(0) = Z,(c,0) (n=0,1,2,...)

O0000000000000000 Z,(e,0) 000 Cole)D0O0O0ODODOODODOO
ooooo

c000. 000000 ¢00000000000000 00000000000
MOOOOOOOOO0DO0OO000000000000000000 ¢c00000000
00000000000000000000000000000000000000
0000000000000

00000000 00000000 :000000000000000000
Z,(?) 0000000000000000000000000000 ¢=-10000
0000000000000002z=00000 {Z,(0)},5, 0

0, —1,0, —=1,0, —1,...
000020000000000000002=+v20000 {Z,(v2)} ., 0

Vv2,1,0, —1,0, —1, ...

000000 00000000000000000000000000000000
00000000z=20000 {Z,(2)},+, O

n>0

2, 3, 8, 63, 4095, 16769024,
gbooobobobooogbbbooogbobobod
Dbooboooboobooboobobobooboobobobon 2=2000

goboobbbouoooooooobbobbbouodoooooobbobobboob
OcO0OO0DzDO0O00

{z€C :|Z.(2)] =|Zu(c,2z)] = 0 (n — 00)}
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O . U000000000O00OOOOOO0O
K, = C-B,

O c000000000D00O0O (filled Juliaset) 0000

MOOOOOOobOOoboboboboooooobobooooooooooo K.
U cOoddbbbboooobbbboodbobbbuoooobbbboooobbn
gbooboooboobuoobuoobuooboobooboMOUObOOobOoOobOon
gbobobodo

goooobobooobob bo Moo K, Oooboboobboobobooooo
00000 K.OOOOooOoboboobooooooooo 1900 11200000000
gogbbbuodooubbobobooooubbbboooubbbuooounooboo
0000000000000 000000000DEM (Distance Estimator Method)
gboodbboobtbobodboboMbOooboboboobobuooboboooo
oooboooboboboooooboboboooboboooobooMbObooboOo
gugobubbboooooobbbooooobbbooooobbbuoooooo
cO0OD0 K. OOOOOOoOooobooboooboobooomooboooo
guoodoooom
Jooddooooobbbbbooooooooon

gobobobuogogob. gbbobbudidd e=—-10 ec=c000000000
ooooobob 1900000 Ky,obooobooooooooop. O0oooonO
gbbogoobbuooobbuoogbbbooobooobbuoobbbooobn
gobobobbboogogobboobboodooooobobboooooobobooon
(basillica0 00O DO0O0O0OCOOOOO0OO00O0O0)00DO0OOODOOOD K;,0OOOOO
O000000000000000000000000000 (dendrite0 000000
Ooo0o00)0C000O000000000000DOO0OODDOUOODOD K.OOO KO
gboboboooobboooobobod

obobogoooobobob. 0bo nio0boobd Ka,obooboobooboo
O c=-0.12256140.744862: 000000000 O0ODOOOOO0O0OOOOOOOO0
00000000 ¢c=1/400000000000000000000000000O
O (rabbit)D 000000 (cauliffower) 000000 K. 00000000 0OOOOO
00000000000 00000000000000000000000000
gbooboogooboood

OO00. OO0 11100c=-17488000000000000000 K. OOO
0000 (airplain) 000 0OO0OD0DO0OO0O0O000O0ODOCOOO0MOOODOOOOO
000 K.O0Oooboooboooooobooooboooooooobobooboo

0000 (connected component) 0000000000000 0000000000000O0O0O0O
oooooooooooooof,)o0io0 1/20000000000000000000000O
ooooo
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e

019 ¢c=-100000c¢=7:000000000000O

% 8

0 1.10: ¢ = -0.122561+0.744862:0 0 00 ¢=1/40000000000
oon
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goboobbouoooogbobobbouoooobboobouoooooboon
oogd

;
i
&
;}i
i

i
*"#‘*'_Q_FH%}*“‘"#;

O 111 e=-1.75488 000000000 K_1.754880

gooobdod. dgooboboooobbuoooobbooooobbuoooobooboo
0000 11200000 ¢= —0.7688 +0.1632: U O 0O ¢ = —0.1123 + 1.056: O O O
goobogobbogobboooobbooobbooobbuooobbbooobo
obod K. Ooboooobooboboobooooboooboooboobooo
000000000000000 (Cantorset) 00000000000 DOOOONY

gboboouoogbo 9gbbuogbbuoobobooobbobodebbuogn
gbooooogn

}‘ Ly
¥ P g
%“a -
L) L
%ﬂ% ' PO
& %
‘:ggg 4 i

U 1.12: ¢=-0.7688+0.1632: D 00000 ¢ = —-0.112341.056: D O OO
gboooboooboooooboboboooooboboooobooooDoo
obooboobooon

gbogbbogbuodgbboobobobuoobbbooog oobobooboooon

"000000 (Fatowsdust) 00 00000000000002000000 PFatoud 00000
gooooooo
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000000®0 1.13000000000000000000000O00O00000O
OobobooobOobooboobooobooboooobobobooboobogooo So
O00 ce=c 0000DO0ODOODOODOOOOOOOOOO K. OSOODODODOD
oosSOoob0oooo040000000D0O0ODO0ODO0OK,. O cOODOobObOOOD
gobobbbobbouogoooobbobobobbbobbbooooooobbooo
gboboboggobbobuoooobbboooooooo

gbobbobbbdoooooobbbbbboooooobbbobbbooooon
gobbobbouogoogobobbbodooooboobouooooobooon
cdbboooogobobbodga

1.4.2 0O0O0O0OOOOOOOOO

gbbooooobb bboboobbuooobbbuooboboboooobboooobon
goobooobobobobbbooogoooooboboobboooooooooboboobooon
0000000000000 00O0O0000ooooDoOld<20000000000
goboboooobbobooobobobboooobobobuoooobbbooooobooo

1. 000 z=xz+y 000000 (z,y) DODODOCDOO

2. |(<2000000000000 K.O —2<gzy<200000000000
l500000bbbouogobobuoooobbbdun 13g0bbooogn

3. 0000 [pQ-O0000000000

4 4
294 . P << —24—.(P+1
+N <z < +N(+)
2 i Q <y <2 4(Q+1)
N2 =YY= N

gbooood

00000000 [pP,Q-0000000000D00000OO000OODOO0OOOODOO
0000000000000 000000OO0OOOO0OO0o0o0oooOoO [PE-OOOO
gbobobooodgobbod

g e (e b (oo doa),

000000 Z,(2) = Zu(c,2) 000000z =2[P,Q000000000 K, OO0
000000000|Z,(2)|0000000000000000000[P,Q]-0000
00000000000000000MOO0O00O000000

(i) PQUODOOOD OOO N—-10O0O0OOODOOODOOO
5000000000 WikiPedia 000000000000
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0 1.13: 0000000000000 0o0ooo0ooooooooooo

oooboooDbmm
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(i) 000000000000000 2=2[P,Q| 000 Z(2), Z1(2), Zs(2), ..., Z(2)
N000000000000000000

(i) O Zy(z) (k=0,1,2,..., L) 000000000 |Z(z)| 00000000000
000 R>00000000 |Z(z)|>RO0000000 K. 0OOOOO0O
000000000000000000000 [PQ-0000 000 K, 000
D00000O0[PQ-0000000000000000 #000000000

(iv) k. =L0000000000 K. OOOOOODOOOODO [PQR-OCO0O00 K,
gobobooooboboooobon

ooogbdobobo MOOoobobobooboobooobobobobobooboo
gobogobbogoobbodbuooobbooobbuooobboobooon
gooo

0000 00000000000000(GH)00000000000000000 R=
max{2,|c/} 0000000

00 1.5 000000 e CO K. OOOOOOOOOOOOOOO]|Zk(z,¢)] >
max{2,|c/} 0000000000000 kOQOOODODOOOOOOOOOOO

(1) |¢f<20000|Z(z,0)|>2000000 k0000

(2) || >20000|Z(z,¢)| > || 000000 kOOOO

00000 1.5000 2¢ K, 00000ze BOOOOO |Zu(z,¢)| = 0o (n — o)
000000|Z(z,¢) >max{2,|c]} 000000 k000000

00000000 k000000000000000 Zu(2) = Za(2,¢) 00000
0000000000

Ze1(2)] = | Zen(2)* +¢| > [Z(2)] — |
00000000000 |¢f <20 |¢>200000 |Z(z)| > | 0000000
0oo
Zen(2)] = | Zi(2) P = el = |Zi(2)* = 1Z(2)| = |Zi(2)] - (1Zi(2)| = 1)

D00000MOO00 |¢f <20 >200000 |Z(z)] >2000000 :=
1Z,(z)|—1>10000000000

1Zkia(2)] = AZi(2)] > |Zk(2)]

000000000000000|Zkua(2)| (n>0)0 n00000000000000
Cw(c) 00000000000
[Zen(2)] 2 ([ Zkina(2)] = 1) - ([Zea(2)] = D[ Zk(2)] = 1) - [Z1(2))]
A Zk(2))]
A'max {2, |c|}

(AVARVS
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000000000nr—>o00 000 |Zew(z) 000000000000000000
0z2¢ K. 0000 u

0000000000000 |¢<20000000(GH)0000000|Z(z)|00
00000 |Zk(z)] > max{2,]¢]} 00000000 K, 00OOO0OO0O0O000000
0000000 ¢00000 K, 00000000000000Rez|,|Imz/<200
00000000000000000000 1500 K, 0000000000000
000 m

016 000 «c000000000O0O0O0ODO K. OOODOOODO max{2,|c|} 000
gbooooaoboood

K., C {z€C: |z| <max{2,|c|}}.

OO00K.OO0OOOOOO0OOO0oO0ooOooboooo

gboobooobo 1.200 1.300b00ggbbubboogbbuooobboan
goodgbobbooggbbbooaobo

14+ /1+4|c

OO0 1.7 000 cO0O0O0OO0ODOODOODOOO K.OOOOODO 5

ooooboooog

O

00000 1.700 00 1.5000000 € K. 000 n>0000001Z,(2)|<
max{2, |c[} 0000000000s(2) =sup,»|Z.(2)| >0000000%Y00 Z,14(2) =
Zy(2)?+c0000000

Za(2)]F = 1Zna(2) — | < | Zna(2)| + el < s(2) +c]
000000000000000 »0000000000000 sup0000000

s(2)* < s(2) +1cl

000000*0020000000000<s(z) <Y 0000zek, 00
0000000 =|Z(2)| <s(z) 00000000 u
000000 16000000

oooob o0 1.7y0o0boobuo0 120000000000

Y000 ag,a1,a2,... 00000000 n>00000 a,<MO00000 M O sup,~gan O
oooooooo B

200000000000000000000000000000000000000 s(2)+]¢| < s(2)?
00000000000 |Z,(2)|<s(2) 000s(2) 00000 s(2) 00000000 |Z,(2)] 000
00000s(2)+ el <|Zu(2)?<s(2)?000000000000000000000000O0
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obobodb 1.7000000 00 17vgoobOO0obDO0 HT\/mgmax{ZkHD
goobooooaobo |z|:HT\/mDDD e K. OOO cO0D0OO0ODOOODOO
000000000000 0000 HT\/TMDDDDDDDDDDDDD
gboboboooobobuood. ggobobobooooboboooobod

(K1) K. 0O0OOOOoooooO

(K2) K. 0OOOOO0O000000O0OQ00OQ0OOO0 1900 1.1100000000000
obobooboobgo 1.1200

(K3) K. OO0OOOODO0O0OO0Ooo0o000OO0e=-1,¢=1/40000000000
UO000ce=:00 1.120000

(K4) K. 0ODODOO B, OODOODOUOUO0O0O0OUOODDODDOOK.OODODDODOOODODOO
gbbobooodgbobon

(K5) K. 00O0OOODOOOOO0O000O00000000002

gbbbuoogobbboodobbboooobbbuooobbbooodd

00000000 ceCOODDOOK.O0ODDOOOOOOOOODOOOH Hint. f.(z) =
fC(_Z>D

00000 ceCOUO0OO0OO0K, 000000000 K.:={z€C:zeK 00O
O000000K,=K.0000O0O0O00O ¢ cOODOOOOOOO

00000 ceCOOO0O00OZi1(2)=2%y(2) 000 :000000000000000
oboobbooboooboob kK. Obooboobobobooboon

gbboodgboogbobooobdobbodboboobooobobboobboon
oboboooboboooboobobooobobboobooboboobooMOO
00000000 Z,(:)000 K. OOOOD0OO0O0O0o0o0oOo0oooooooomooo
goboobbooogooobbobbodooooboobouooooobooon
oboobobbobbom
gboobogobbuoggbbboooobboogboboooobbooobooan
gbbboooobbbooobbboooobbbuooobn

200000 (fracta) 0000000000000 O0D0O0O0O0O0O0ODOODOOOOOOOOOOOD
gboobobooobobooboobooooobooboboooboooooboooooboboobooonoo
O (self-similarity) D 000000

gbboobooboobooooobooooobooooobooboobooooooboooboboooobooon
goobooobobbovoooobbuooobbuooobbuooobbuoobboobobbooobo
oboobobdUbbetcbODO0ODODOODODOOO0ODODOOODOUODDOUODDOUOUDDOOO
obooboooooobooooobobooobOoboooboobooooobooooboooboooonoo
oboboooOoboooobobooooom
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1.5 0O00O0O0Oob0

gbboggobbuooobbooobbooobobbuoooboobbooobo
gobobobbooooooobbobbbooooooboobbboooooobobooon
gobbbbooogooobbobbtbouoooobbobobouooooboboon
gboboboogoboboboogooboon

gbuodgbboobuougbbboobuoobbooobuogbboogbooon
gobobobboogooobobobbbodooogoooboooooooboooon
gbgboobmomooooboobooboboooMO K. O0DOOoooDoo
goboboogogooobod

1.5.1 O0Ooooogod
000 cO0000000 Z,(;) 0D00OO0ODOO
Zo(2) = 23 Zni1(2) = Zu(2)* +c (n=0,1,...)

00000000000000 Z,(:)0000000000000000 Zu(2)2+¢
000000000000000000000000000000Z0000000
000 Z24+¢000000000000000

f=f: C—C
Z— 7%+ ¢

00000000000000000
Z0(2) = 2z Znn(z) = f(Zu(2) (n=0,1,..)

gbbobooogbbbuoooobbboooon

) = (Z*+ 0"+ o) +c
) = ((ZP+)* +eo) +c)* +c

00000000 Z,(;) 00000 20 fOnO000D0OODOOODODODOODOOOO
0000000000000 00000O0000000000D0D0OOOO (iteration)
gooo

gbboboogbobboooobbbdao

fo(z) =& fn+1(z) = f(fn(z)) (TL:O,LQ,...)
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gboooboooogoobon

O00000000oooo®»2000

Zn(2) = f"(2) (n=0,1,...)

gooo
gobobobbbougoogobbobboooogoobbobbouooooon
gobbobbbougoogobbbbbouooogboboobbouooooobbobon
gobobobbbouoggooobobbioooooobooboooooooboooon
gbbobooogbbbuoooobbboooon

oooo oooobo f:C—CO00DOO0OCObOOOOOooooDonDOo Ccogoo
gbobobuoogobbbuoooobbboooooooo

cLctcLtct ...
000000010 »eCO000D00O0DO0ODO0ODOOODOOO0O
f f f f
2= f(2) == f2(2) 7= fP(2) V-

gbooooog

Zo(2) RA Z1(2) SN Zo(z) EEIN Z3(2) N

oooooooo f~:C—-COO0DO00DO00DOO00D0ObOOoOobOoOoDbOoOD
0000000 fM:2— f"(2) 0000000000 f"(>)000000D00OCDOO
gboboboooobbboooboboogobbobuoooooboon

googogoo. boboobooboboobooboooboooboooboon
gbobobuoobuomobbuoooobbbuo@mbooooboboooobon
gooboogon

0000000000 C
000000 0,1,2,3,4,...000
0000000000 201000 f(z) 0000

gbobobboogooboobbbouooboog2000bboooooobon
obooobooobobboooboobooboobooboobooboobon
0000001/240000000000000000000D0O0CCOOCCOOO0O
oboboobobobooboboobobooboboobobooboboon
gobbobbouoooogbbobboooooobbooboooooonoboon
obobooboobog

274(;) 0 f4(;) 00000000000




1.5. 000Ooooooo 30

oodooodoooooonon
ctLHbectcectcect..

OobooobOooboobooobooboooobobogoboooo coogon fOoD
0000 (dynamcal system) 0 00 02#000000000000000000000O
goobobbobooommmobobbbbioddoooooooobobbbobobobon
0Moo0o0o0oooooooooo (C,HO0 fArCOOOOO

gboooood 000

b 1) L ) D P D

0000 (initial value) z 000 (orbit) 0000000000000 O00OOOOO
000000 Z,(z,¢)000000000000000000 Cu(c) = Z,(0,¢) 00
00 f=f.~CO0000000000000000000000000

1.5.2 JOO0O0ooon

gobbobbbuoduooogobbobobboooooobbbbouooooon
gobooo

gbooboooobbboooobbboooon

gobbobboooooooobobbbdoogoooboboobobodoooooo
gobbbbbouoooobbbbbbodooooobbbbouooooobobooo
gbbobuooggbbbuoobooobbboooobbboooobobogn

0000 20000000000000000000000f(2)=22000000
gbboboddidbz=2 0000000000400

5 fo 52 fo o fo 8 fo

000000000 f(2)=2000000000000000000000000
D00000z=re> 000000000000000O00O0O0

fi(z) = 22" = r*"(cos2"0 + isin2"0)

00000000 (z)|=r" 000000n—»0o000000000000000
000003000000000

000<r<10000|f(z)]—00000000 00000

200000 XO0O00OO00Ooo f: X —-X00000O0000000000000oxoooo
00000f00000000000000000000O00O0 (complex dynamics) 00000000
0000000000000 D000 (discrete dynamical systems) 0000000
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00r>10000|f(z)] >0 00000000000 co 0000

O00r=10000|f(2)|=100000000000 {zeC:|z/=1}000
0oo

Ooboob 0000000000000 DOODDOOOOODOOODOODOOODO
oboboooooobooon

B := {ze€C: |z| >1}
J={2€C: |z|=1}

00000000000000000000000000000000000000
ooooooo

0000300000000000000000000000000000000
0D0000000000000000000 JOOO 0000000000000
200000000000000000 2= cos(/6) 4 isin(r/6) = (vV3+4)/2 000
0000000000000

Z = 0.866025403784438646764 + 0.500000000000000000000z

0D0000000000000000000000000 f(2)=220000000
00000000000000000 f(;)=-20000000000000000
00000000000000|f(z)]=100000 f(z)eJ 0000000000
0oooooo

00000000000000000 f(2)=2*000000000000000
00000000000000000Z0 000000000000000000
000000000000000000Z¢J000000000000000 £(2)
00000 JO0000000000000000000 f(2)eD0000 f(2)eB
00000000

0000O0|f(Z)|0000001000000000 f(Z)eJOO0O00O0O00O
0D0000000000000000000000000000000000000n
000000000000RO0 fM(Z)000000 fM(z)elJ000000000
00000 00000000000000000000000000000000
00000000000

00000000 2eD0000000000000000 DOOOOOOOOOO
0000000000 Z00O000000 ZeDOOOOOOOOOOANZ)0O
000000 DOOOO0fMAZ) »0(h—o0)0000000000000000
000000000000000000000000000000000000 2€B
000000000000

“000000000000000 137000 43x10700000000000000000 »0O
gboooboooooobooog
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D

0 1.14: 00000000000000JO000000000000O0000

gobobobboogoooobboobobboooogoboboobooooooon
gobbbobobbbbbbooooooooobbbobbbooooooobobobon
gooo

gooboooobbboooobbboooon

0000000000000000000 2000000000 2=2+¢00
0000000000000000000000 |(000000000000000
000000000000000000000000000 2 0000000000
0ooo
000f(z)=-2000000000000000000 f(2)0 2'0000000
000000000000000000000000000000000 f(z)=22+¢
00000000000000000000000000000000000000
02" 0000000000000r=4000000

f12) = (E+4"+6¢° + 6%+ 5" +26° + & 4 ¢) + 8 (¢ +3¢° +3¢° + 2¢* + %) 2°
+ (28¢% + 60c” + 36¢* + 16¢* + 4¢%) 2* + (56¢° + 80c* + 24¢* + 8¢?) 2°
+ (7064 + 60c” + 6¢% + 20) 28+ (5603 + 2402) 210
+ (2802 + 46) 212 4 8cztt 4 216

0000000000000000000000000000000000n=100
00000f°(:) 010240000000000000 {f*(2)},.,000000000
00000000000000000000000000000000000000CO
00000000000 f(2)=-2000000000000000000000
000000000000000 f(2)=2240.00001 00000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000000000
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goboboooo3uuouooboooan
gbbboodob400oobobboooobboboooobon

0000000000000000000000000000000000000
000000000000000000 {f.:2—22+c:ceC}000020000
000000000000000000000000000000000000000
00000000000000O0¢0 ¢000000000 f,ACO000 fon~C
00000000000000000000 zeCO000000000 {f7(2)},54
000000000 {f%2)},.,000000000000000000 B

gbooboobobboboobuoobuooboobobbobooboon
Dbooboobbooboobbooboobbobboobuooboobobo
ooboobooboobuoobooboobobooboobooboobuooDoo
goobogbobgobobobobobuobobuoooobobobobobobon

n>0

1.6 OUO0OO0OOOODOOODOOOO

gobbobbougooobbbbbbodooooobbobbouooooon
gbobobogboooobobobooogooobod

O0b0oooooooo cooboobooooobocobooboou1oooboobooo
ooooobboo ikmbOOooobOO00O0obO0OO00oobbOoobLboobobooon
O0oo0oob K.OMOOODOoOooOooooooooooooooooboooooo

1.6.1 UO0O0OO0OO0OOOOOOOO0O

000000 c000000000000000000000000000000
0000000000000000000000000000 f(2) = f(z) =22 +c¢
0000000000000000000000%

foOODODODO OOO0Of(2)=2*+c0000000 cO0D0O0OO0DOOOOOOO
0000000f(2) =22+c0 fo(2)=22000000000000000000¢
gboodao

f(2) = 2] = |c]

gbbbuoobobbbooodobbbuoooobbbuodbb-z0b0b00000b0
gboobooooboobooon

C
=1+

00 000000000 c0D0O0000D0O0c00000D0O0O0O0O0OOODO cOO0O0O0DOOO
goooooooooooOOo0 f.OooOOOOOOOOOOOODOOOOOOO
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00000000.0000000000000|-/00000000 ¢/-200000
000000000000000000000000000010000%
00000000000000 |¢/<10000|z>1000000000000000
c/2?/<1/10° 000000000001+¢/22000000000000 10000
000000010000 1000000000000000001km00000 lem
00000000.00100000000000000000000

f) = 2 (1+5)

000000 f(z)0 fo(2)=2200000.00100000000000000000
0000000000000000000000000000

00000000 ¢000000000000 |¢/00000000000000
0000f, 000 :000000000000000000f000000000O0
000000000

Ooobooobboooob oobooooboooooog f=fnnCOb0boogo
gooboboogoobobooooobobod eboogoobbbooooboo
O0000000000D00000000000 (basin at infinity) 00000 B = B,
oooo¥00000

B = {z€C : |f"(2)] = 00 (n—00)}

dodddououoodooooooououooooooooooooouonoa
150000000000 f=/f000000000 (filled Juliaset) D0 O0O0OK = K,
goooooood

K =C-B

Ooo0obobopO0Ob0OO0OKOODODOODOODOOOOOOOODOODOD

0000 000000000000000000000000000000000 2
00000000000 foz)=220000 B=B,0 K=K, 000000000
00000000 (z)=22" 000000

2| > 1 <<= |fi(z)| = oo (n— )
goooooooooooodgd
By = {z€C:|z|>1} = B
O00000DoO0obDOo0oboo0O0 Kg = C—-By 0O
Ky = {2€C:|2/]<1} =D = DUJ

gbboboogooobooaooboon

%0 A/B+#00 BOOOOOOOOOOO |[A-B|/|B|=|A/B—1 000000000000
A=f.(?)0 B=f,(-) 00000000000000000000
Y000000000000000000000000000000000
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1.6.2 UO00O0OLOOOOO0OO0OObOOUOOooooOn

O0000000. D00000 ¢:C—>CUO0O0YcCcCOUOUOOOg¢x)eYDODOO
000 2000 ¢ (Y)ODODOODOO YO ¢O000D00 (inverse image) 0000
gogogo

00000 fo~COO0000B, 0 Ky O

fo(Bo) = By = fy'(Bo) (1.1)
fo(Ko) = Ko = f5'(Ko) (1.2)

000000000000 >1 < [22>1000 |¢|<1 < |2<1000
goooooog

godoobboooooobboooobobboooooobbuoooooon
(fully invariant set) 0 0 0 O 2

00000 f(z)=22+c¢000000 f~CO00000000 {¢}000000
00000000¢c=¢=00000000000000f~COO0000 2000
000000000000000000000

ooo0 f=f000000000000

00 1.8 (00000) BO KO fO000000O0O0O0OO0OOOOOOOOOOCOO

f(B) = B = f(B) (1.3)
fK) = K = fH(K) (1.4)

gboobooggoobobd 0o

f"(B) = B = [(B) (1.5)
fM(K) = K = f(K) (1.6)

0000000000000000000f™=(f)"'00000000 f000
000000BO0O0 KOOOOOOOOOOOOOOOOO0O0000000000
000000000000000000000(C,f)00000000000 (B,f)
0 (K,f)00000000000

0000 1.8)0 000 »eCO00000ODO 2000 wOOODOODOO%®000
gooo

BAX)=X000D0D0OOOO (invariant set) 0000 f~}(X)=X 00000000000000
000000000D00000000f(f~Y(X))=X000000
Bfw)=>000 w0 20000 vw’+c¢=>00000000000000000000000O
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000000000ze BOOODO |f(z)] » o0 (n —o00) 0000000000
|/ (w)| = co 0O DO |f"Y(f(2))] >0 00000000we BOODO f(z2) € B
000000000 f4B)cBOO f(B)ycBOOOO

DO0O0BC fYf(B)0D00O0O0OOfB)CBO fAO0000O0O000%

[7f(B)) c f7H(B) = BC [f(B)

000000000 fY(B)=BOO0000000OO0 f0000000B=f(B)0
000000 (1.3)000000(1.4) 0000000000 |

gbbood buogdgbbbuooobbooobbooobbobuooobboodobn
gboboboooobbbooobooboooobobuoooobbooogn

gbobobooboboboboo dbbdezepgbobboobpBpbOnObOnDO
ooodno lebb000000O0OO0OO0DODODOOODODOOODOOO BOOO
gbobodgbbboogobbooobbuooobbooobbbooobboogobn
0000000000000 000000000000000000ooooooo?
OO00DfnnB0O fAKOOOOOODODOOODODODOOOOODOODOODOOOO
gobbobuodoggoobobbtboogoooobooboooooooobooon
gobbbbbouogoobbbbbuoooooobbobbouoooobbobon
O0000000f=/f0000000000000 (Juliaset) J=J.0

J = 0K = 0B

gobobobbooogobobbidd 0bddoouoooobbbb0b000

ooobdoboboboboboboppbhUO0 KOODOooobobobooobooo

obooobooobobobOobobobbob pOUO0ODL KOOOoboobooboo

gobbobbbouooogobbobbuooogbobbooooooobboboon

0000000000000 000oOooon?®?
obobobobobooboobKODOO

K° = C-BUJ

ooboooobooobooo?»ooboooooooboooobooboK. 0ODO00OD
0:22+;00000000000000000000000000000000O0000
gobbobbbouoooogobobbbobouooooobbobboooooobobon
obobobOoKeOOO0Oboobooboobooboboobooobooboobo

00000000000 f: X —-YODOODOOOPCQCXOOO f(P)C f(Q cyYyOoooo
PcQcyooo fYP)c fYQ)cXxO

sl 0pD000000D000000000D000000D0D000000D0DO00DO0000000
00000000000 000000000000D000000000000000000D00O0O00
0000000000D000000000000000000D00000000000000000D0
00000000000000000000000
20p00000000000000000000000000000D000D00O0000O000O0
0000000000D0000D00000000000000D00O00D000000000D0O000
ODO0000000O00D0DO000O0
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00000 C=XUuYDOOOO X=C-YDOOUOOooOOoopDoOoXx =0y Ooono
oboobod

Oooodob Joooo fnCOOO0OO0OO0OOOODODOOOODOO

1.6.3 U00O0OLOObOOoooooooboon

JgoodoobboooboobooobbooobooomobbbUdeooon
O00DOo00oooooof=f00000000000O0O0DO0O00O00O0O0DOOOOOO
c0000 fACOOOD0ODOO0ODOODOOODOODOODOODOOODOODOOD
(parameter) 000000000

00000000 cO00OD0ODO0ODOODOODOODOODOOD CODOoOobOOooOg
00000000000000000000000%®000000000000000
goboobbooooooobobbbodooooboboobbbooooooooboobooon
godooooooooodoodooooooodoooonoooooooood
O0o00o0o0 fFA~COOO0OO0OOODODOODODOOODOODOOODDO cODOOO
godododoodooooodoodooooodooooooooooooon
gobobobbooooooobobobbbooooooobobobbbooooooobobo
0oooooooooooooooogo

000000020000 f(2)=2+c00000000000000000O0
O0000C00O0O0O0ODDOOO0ODODO0O0OC0CO0O0O0OO0OO0OOO Culeg)pDooOOOO
goobooooboon

JM0) = Zu(0,¢) = Culc)

Jddoodgdood C’n(c)D z=0000
0 L f0)=c L f20) L

obogboboboboobooboobobobobi10b.=0000000000
0000000000000000000000000*

Dboobgobooboobuoobid z=00000000000000D0
OD0=00000000000000000000000000 ¢cb0O0 HeOd
ooboooog

Hy = {ceC: |fM0)] = 0o (n — o)}
= {ceC:0€ B}

¥00000000000000000000000000000000000000000000
40000000000000000000000D00000O0 (phase space) 000000

000000000000 000c000000000O0O00f.~COO0000O0O0O0O0O2=0
ooboooooooooooobooooboooMOOOOoOOoOooOoOooboobooboooobooooooa
gbooobOobooooobobooooooo
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guodoobbboooooobboooobbbooooobbboooooo
(the Mandelbrot set) OO0 OMOOOOOOODOOOOOO

M:=C—-Hy = {ceC: |f}0)] » o0 (n— o0)}
= {ceC:0€ K.}

ooobobdbH . ODO0bOoobooMOObobooboooooboboboooo
00 ce A, 00000000 H,OO0O0O0O0O0OOODO cOOOOOODOODOO
oboobdbUH , 0b0b0b0obobuobobobobooboboboobobOg e
obgooboobobbd z=000000000000000DO0ODOODOO
O00Oooo00f ~COO0000O000O0O0O0OO0DOOOOOOOOOOOOO?
DbOoooboboboobob z=00000000000000000DOOO0ODOO
gobobobuooooobobbdooobboobibD =10 z2=000000
obooboon
000000000000 00000000000 f=f02=00 cOO0O
obooboobbooboobodboobbooboobbooboobobon
gbbobooogbbbuoooobbobooooboouooon
gobgooboboboboboooboooobobobobobobo .sood

oooooon oooooon
c¢ Hy < ceEM <= ce K. < c¢ B,
c€EHy < ¢c¢M <— c¢ K. < c€ B,

gbogboobooboobobbobbobbobooboobo20b00od

00 (P.Fatou) 00000 (GJulia) 000000000000 00OO0OOOOO0O 3.140

gobobbugooooobbobbboogooooboobouooooboboon

gboboboobooboobgooboobobboboobooboobon
gbooboooooboood

000000000 BOODOOOOOOO0000000000000D0O000000O0OoeM OO
ooooo0o JooooooboooooooobooOoMe OO KeDODOOODOOoooooDoOOOOO
0000000000000 0(B,J,K)O (He,OM,M°) 0D 00000000000 0OOOOOOO
gbooobOobobooobobooboooobooobobooooobobooobooboooom

¥0O0000,=00000000000000000000000000000000O0O000OA0
gbooobOobooooobobooooooo



20 20000040000

2.1 OO0O0OoOooooobooonbn

0000000000000 22+c000000002000000000000
gbogobodgbodgboogbooboobbooobuoobooboobobonon
goobobooooobbboobobbooooboboboooooboboboooobobon
gobbobbouooooobbobobboooooobbobobbooooooboon
goboboobobobooobooobobooobbobboobboobobooobon
gobbobbooogogobbobobbouooooooboobooooooboboon
gooboobbboooooooobboooboboobboooooooooobobooboooD
goo

211 00O0ooon

obooboobooboobobboobbooobbobbobbobboobo
0000000000000 000O00DOO00DO0OO00b0b0e#0000O

f(z)=az+Db
f(z)=az* +bz+c
f(z)=az’ +bz*+cz+d

oboboobooboobd
0000000000 f(z)=2*+c00000000000000000O00OOO
obobobooboobgs3bbooboonbg

1.10000 f(2)=ez+b000000000000O0DOODODO

2.20000 f(2)=az?+bz+c¢00000000000 f(z)=22+c0000
000000000000

.3b0uuunoboboooonobobo200bbbooooboogan

000000() O (b)0000000000000()00000000000000
00000000000000000000000

39
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1000000000 00000000010000 f(z)=az+b(acC—{0}) 0O
D00000000000000000000 1000000000000 (complex
affinemap) 10 000000000000 000000000000OO0D0O0000

0o0oo0ooooooooooot
gobobboogooobbobbboodooooobbobbouoooooon

obobobooboobobbobobooboobooboobooboob

O000000000000000000000 f(2)=ex+b0000000000
O00000000 z—e:00000 Z/—2Z+00000000

gboodao

| Oooobobooboooooooobooboboono cooboobooboboooooa
gbooboooobobboooooon

| OOo000DOOo0oO0O0oOoO0oOoooooOoO0on0 fOCOobO0cCcOoOobOoOoOoOoDOO

000 f:C—CUOO0000O (homeomorphism, topological map) 00O OO OO0
000do0oo0bO00d00oocoooooboo0oooobooooooobooOoOooOon
goobdtdodooboouououooouoooooooooooooouoa
000?0000000000000000000000O0O0DOO0OCOOOO0O3

00000000000000000f:2—w 000000000000 ¢g=f""':
w—zO0OOOOOOOOOoOoooooooood

b
fz2)=w <= az+b=w <= z:%—a::g(w)

gbobobooogbbbogooboboooon

000000000000000000000 f0000 g=ft0000000
goooo

00000000000 0oOod F:R? - R2 <§>>—>(CCL 2) (z>+<f1’) (000 ad—be # 00

0o00o0o0oO0)00o0o0oUo0oooDo00o00o0D0o0oU0OD0o00LOU0O0ooUOUOOO
gbodgbuoobooboobooboboobobobobboobooboboboboobobooan
(affine) 00 0000000000000 O0O0O0OO00O0DOO0O0O0OOODO affiner00000000O0O
bboononooooboboooooboooooobooooboboooooboobooooan

00000000000000000000000000000000000000000000
gbooobooboobobobobooboobooboobon

‘00000000000 000O0fOCOO0COO0ODOOOOOOOOD fOO0O0OOO OO
obooooobooooooboooon
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gobobooobboobouodoooooooobbboobobbboooooon
oboboboobooboobod

OO00OO0bOoooooobooboob0oboob0n fO gO0OO foghUOoboooO
oboooobooo

gbooboooobbobooooobooan

2.1.2 000000

gobbbbbouduoooooobobbbbobbobbbbbbboooooooon
gooo

e a=10000

ea#10000

a=1000000000 00000000 f(z)=2+b(eC—-{0}) 000000
000000000000 +000000000000000 2 00000000

Zoii>20+bli)ZQ+leL>Z0+3bli)"'

O0000000000000000000r0000 2z,=f"2)0 20+nb 0000
gbobboogobbboooon

O00000000000000000 CO00D0O0O (fixed point) 00000000
000000000000 f(e)=a000 aeCOO00000OO00O0OOOO bOO
gobobobbouoggogobbbobbtodooooboboooooooboon
000 |z w0 (n—00) 0000000000000 OODOOOOOOOOOOO
gboboboogoboboboooobon

aF1l0O00O00ODOOOOOODOOOOODOOOO DOOOODOOOODOODOOO
0000 f(2)=2000000000 «O00OO0OOODODOOO

b
az+b = 2 < z= =
l1—a

0000« 0000000000000 «0OD00ODO f(,)0000000O
f(z) = az+b <= f(z)—a = (az+b) — (aa+b) = a(z— )
0000000 200000 z,=f"2) 0000000000000

Zn—a = a(zp_1 — @)

= a*(2y_2 — Q)

= a"(z0 — @)
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0000 z,=a"(20—a)+a 00000000 000O0O0ODODOOOCOOOOO
0000000000000000(f(2)=2*+c0000000R0 fO00000O0
0000000000000 000000O)

00000000000 000000000000000000000000000
20000000000000000000e#10000000000000000
00000000000000000000000000000000000000
0000000000000000000000000000000000000
000 f(z)=az+b00000 f(z)—a=a(z—a) 0000000000000

(0000 f(z)000) = ax(@00002000)
000000000000 f(z)-0=a(z—0)+b0000
(00000 f(2)000) = ax (00000 2000)+b

gobobobbouogogoobbobbbodooogobobbooooooboon
gbbbuoogbobbboooobbbooaooboo

gboboogob obobbuogobbooobbooobbooobbooooobon
0000000 (transparencyDOHPO O OO O0O0O0OO0)00O00O0O0O0O0OOOO
gboogbuodgbodgbuogugbogbuogbouobug 0bobboboobb
00000 (coordinate system) 00 000000000000 000000000
gbobobodz00b0booooobobodan
gobbbbbbotbouooooooobbbbbbuoobboooooooooon
gboboboooobbbuoobuoooobbbuooooboobooob
Dbobobooboobooboobobbobb 000000000 00DODO
000000000000000 f(x)=aex+b00000000000000000
obobbooboobooboobooboboboobooboon
O0000Do0o0o0ooDbon z—ex+b0000000 z=000000000
Obooboobobooboobbobbidtz=cb0000000000000O0
gboogboboodbbogugobzbbu0bbtdbwbbo0bogbboabn
oboobobdob 0000000 «oU0D0D0OD0DwDOODOODOOOOOODOOO0
Ub00DwOD00O00o0ooooboogn
OD0wDOO000000000000000wO00O000O00O0O0O0O00O00O0

3

w o= oaw — d’w — acdw —

gboboboooobbboooobbboooobobooon

OOooooobD 2100000000000000 200000 fizw—az+b0
gobobobobbbooddoooobbobbboooooobboobobbodg 2000
gbboboogobbbuoooobbbiuotdidwbbooobbbooogoboo
gboogobboodobbidd w—ew DDODOOOODODOOOOODOOOODO
gbobboooobbobuoogon
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z—az+b W — aw

S24NS C

P @/

z W=7z —«

0 21: 000000000000 00D 20000000000 0O0O0O
gooooooon

wOOOOO0OOO0O0O0 z:0000000000000004+c 0000000000
O00ooooo 0000000000000 z00000000000000w
O000wdbOO000000000w=z—a000000000000000000O
O000w=9¢(2):=2—al000000000000000000C0O00O0O0OCO0
0000000000000000000000000000 (coordinate change) O
Oo0ooobo odb00oooooooooooooooooooooooooon
000000000000000000000 (affine transformation) 00 0O O

02100000000 f:C,—-C, (:00000000000)0 ¢g:C,—=C,
(wODOODODOODODOOO0)ooO00

g(w) = dofog~(w)

00000000000000000wD0000 z=¢Y(w)000000 2000
Ooboobogofob0b00oboobobOobOoobD0obb0 obO0D0DO0 wODOOOODO
EREREEN

ooo fnC,0gnC, 000000000000 ODOODOODODOO

c, Lo, Ly, L.

o O N

g g g
Cuw > Cy > Cy >

000000 000000000000000000 w=9¢(z)D0000O0ODOOO
gbudgbuobggoboobogobuaobooboobbobobooboonbn
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Of~n~nCOgnCOOODOODOOODOOODOOODOOOODOODOODDOODOOD
gboobobobobooboobobobobobobobobooboboboo

0000000000 DO0000ooooDooon f,g:C—COOODODOOOOOO
0¢:C>CODO000 g = ¢gofop ' DODDODDSO ¢gOOD (conjugate) O
0000004000 ¢00000000000000O0O0O0f0O ¢gO0000O0O00OO
(affine conjugate) 000000000000 OOOOOOOODODO fACO gnC
0oo0oooooooooonooooon

000000 f(2) =az+b0 glw) = 000000000 w=9¢(2)=2—a
OO0000bobo0oboboooboboooobooooobobobuonogbe:C, = Cy,
goddooooobbobbtoooooooouoboobbbbbuooooo

ooo0ooOo fFnCO gnCOOOOODOOODO ¢o:C—COOODOODOODO
000000000000 f0000 00 90 ¢g000000000O0O0OOO
gboboboobobobodbobuoobobobooboboobobobobo
oooom

oo i gouooooooboooboooo
guooobbooooobobooooobbbuooooobbbooooon
goddobbobooodobbooob oo booobbooooo
guoooooooobbbbtoooooooouoboobbbbbuoooooood

00000000000000000000000000000000000 (nor-
malize) 000000000

00 2.1 O0O0000O00000000 f(2)=az+b(e£0) 0000000000
O0000000 w=¢(:) 00000000000000O00OO0OOOOOOOO0O

e ¢=100000000 w—w+1.

e 1000000000 w+ aw.

O000e#1000000000000000000 f(2)=2+4b(#0)00000
0000000000000 00000D00000000000000 w=29¢(2)==2/b
gboobobodo |

gbboboodoo oobbbooobboooobbooobbooobboooobon
gbbobbouooobbbtuooudlb e=100000000000000000O0
OO00O00O0000Db0O0b0e#100000000O0DO0O0OO300DO0ODO0O0O0OO

l. <1 0000000000000 w=0000000O

2. lo>100000000000w=000000000000000000O
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3. laj =€ () e R) 0000000000 w=0000000 000000
0oo

0000000 000000000000 f(2)=ex+b000000000000
000000 w=00000 z2=b/(1-e)0O00O0O0ODOOOOO

213 200000000000000O

000 A#40, B, CO0OD0OD0OO20000
f(z)=A*+Bz+C

gbuodgbboobbogbudgboobobbboobooboboobooobbn
goboobooogobobood 00bbbogoogobobouooooobon
0000000000000020000 2= A2+Bz+CO00000000O0O0
goo

O f0O000000O0O030000O00300=06000000000O0O00O0OO
gobobobobobodogoogoobbobobbbodoooogobbobboodgg 1o
gbbboogobbodoad

00 2.2 (200000000) 20000 f(z)=A224B2+C (A£0) 000000
0020000 g(w) =w?+c0000000000000000c=—B2/4+B/2+AC €
coooo

gbobobuoooobbbuoobobbbdodb wbbbhooooboboboooo
0000000000000 w—w?+c00000000000000000OO00O
gbbobooogbbobuooobbbuooilgobobooood

000 0000000 f(,) 000000 ADODOOO

Af(z) = A2 + ABz + Ac

B\? B?
— (4:+2) -2 1 AC
<z+2) 4—1—

B B\> B?> B

B
gobooo T(z):Az—I—EDDDDDDDDDDDDDDDDDDD

T(f(2) = {T(2)}* - 2

B
—+ A
4+2+C
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B> B
Ooo0o0obobe=-—+-+ACO00D00O000O0DOOOOODOOOOODDOO

4 2
0o
: —s T(z)

|7 |

fz) —— {T(2)}* +¢
D0D00DO07T00000000000f0000000 T(2)0 {T(z)+c000
dodoooooooooooogogo w:T(z)DDDDDfDDDDDDD

g(w) = w* +c

0000000000000D00000O0g=TofoT '0000000DO0O0OfO
gUnoonoooboonbo BOO00fO000O0O0OO
Og¢gbO0b000bO0O0bO0O0bO0O0bO0O0bO0o0bOo0b0o00b0o0bOo0bOon
obobboobooboobooboobo
oboboboobooboobooboobon

00 2.3(000000000000) ¢c£d0000f(2) =224¢0 fu(z) =22+
0000000000000000000

00. 00000000000000000000000 w=¢(2)=pz4+¢q000
OO0O¢o fodl(w)=w?+¢ 0000 ¢of(z) = ¢(2)?+¢ 0000000000
00000000000p=1,¢q=0,c=c 00000000 ]

OO000O0O0200000000000000000D0OD0 ceCOhOODOODOO
000000000000000002000000000000000 f(2)=2%2+c
gboobooogboboboooobboboooon

000000 f(z)=2*+c000000000000000000O0O0OODOOO
goobboobboboboboboooooooobbobbbodoooooooboboooon
gboooaoggg

000000000000 000200000 f(z2)=XA+22(AeC)0002000
00000000000000000000000000000000 f,(2)=Az+22
O fu(z)=Nz+2200000000000000A0 ¥YOOOOOOOOOO
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[a(2)] = [zl tin] = |zfelietrttion
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goooobobooogbboboogoobo

0e(z) = m {(8a(2) — uca(2)) + -+ (61(2) — do(2)) + 60(2))

S00000 |¢e(2)] <2|2|000000000|pn(2)] = |z|eRebrtHRebn > |5e=(Rebrl+-+[Rebnl) >
|2/20000 |¢.(2) > |2//200000000000

‘0000 1] = [¢+¢?/2+¢%/(2:3)+- - | < [CIA+[C/2+[C2/(2-2) + ) < [¢l(1+1/2+1/2°+--+)
[



3.2, 0000obooouoan 84

gboboboooobobooooonboon

00 35000 ~n>10000

06) = 6a(:)+0( e ) (6= o0)

000000000000 00 »n=000000000000000¢0(2)=2000

Oboboobobiodbe. 0bOobOobOo0obOoO0bOobLOO0ObODOODbDOn
000000000000 00w=17(2)=1/z00000000000000000

1 1
de(1/w) 1/w+ O(w) (w?)
DDDDO(M2)DDDDZHZQCLRUJ”DDDDDDDDDDDDw:ODDDDDD
00000000 oooooooooogno

Ye(w) == Tod. 01 (w)

Yiw) = 14 Y nauw"' = 1+ O(w)

gobobbbbtbldw 0o dbz0000o0oobobboobbbb
Oboobobodbo0Oe¢. ODOOO0DODOODOODOOO

000000000000 000000 R>RO0O0O0O00BR) O ¢, 00000
0000000000000000000000 70000 ¢ 000 r>0000
0 DF 0000000000000000000000000000000000C0
00000000000000000000000000000000000000
000000 u

OO0 0DO000e¢. O IB%(R)DDDDDDDDDDDDDDDDDDDDDDD

00000000000000 00 3500000¢.0600000000000
000000000 »n=30000 ¢(2) = ¢3(2) +0(:") 000000000
d3(z) = {f3(x)}/* 06000000000000000/3(2) =281+---)000
0oo

4e 62 4+2¢ AP +42 A4+2+ A+ ¢ 1/8
{f3(z)}1/8:z(1+;+ — + +

gboogoboobogobuogbobbuoobbodobboobooobuoboabn

gogoo )
¢ clc=2) c*(c—6) 1
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00 3.8 (B, 000000000OO0) ceMOIODODODONODNODODOO
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0000z€ K, 000000000000000000 0000 2€ Uyuy., O
0000000 f(z) eV OO0000-000000000000000000000
02K, 0000000000000000 7:%—K, 000000

O00u#u =du,... 000000000000 ne NOOOOOOu, # 4,
00000000 Uuu.u # Uhgu.w, 00000000000000000000
0000 #(v) 0 7(x) 0000000000000000007(w) # «(w) OO0
00000000000 n0000000000000000 z€ K. 0ODOOOO
2€ Uy, 2€ Upuys 2 € Upugus-.. 00 00000000000000000000

1300 2,eCO00000 (Cauchy seqence) 00000 0n,m—00 000 |2 —2,] —0000
ubooobOobooooboboooooboboooobooboooooan
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O00000000000000000 u=wus...0 n(u)=20000000000
oboboboobooboobuoobr~0O00O0O0D0OO0 |

00 3160000 O0O0OO0O0O e>0000000000000u, v € X
ds(u,u/) <e0000000000000000 NOOOO uj=u,(1<j<N)
gdn /

ds(u,u') < X:E%;ﬂ555;<6
J>N+1

0000000000000007(w), 7(«) € Usuyuy, 00000000 31700
IT(w) —7(x)| <CANN 0000000000 vu=v"0000ds(u,u) =0 (n — o0)
0000000 NODOOO |n(u) —7(w)| - 000000

000000000 e>00000 #w(w), 7(v) € K. O |7(u) —7(w)] < eO
0000007(W) € Upuyny D0000000 NOODODODOOODOODOODO
w=u,(1<j<N)0DD0DDDDds(we)<1/2Y000000000 u=u"0
000]|r(w) —7(w) =0 (n—o0) 0000000 NOOODODOOODODOODO
00ds(u,u) = 000000

O00000 noo=fonr 000000000 weXx0000000O00O0O00OODOO
000000 7(4) € Vnpos 00 £o(7(@)) € felUssupn) = Uy, D000

fm@) = () Viswn = mlo(w).

n>1
|

00 3.170000 0DO00O00OODDOO0MOOO000D0MOOOODDOOn
00 VDOOOO g:V—-U,0¢:V—>U0,0000000000000000
Uiiug..un U
Uiiugesn = Gus © Gus ©**+ © Gu, (V)
D0000000D000000D0000 DOOOOOOOOOOOOOO
000000000000 29000000000000 ¢:V—-DO0O0O0O0O0OO0

0000000000 Uyu., 0000000000000000G :=®o0ggod!:
D — &), Gy :=Pogo® ' :D—-PU,) 0000000000 OODOOOOOO

(I)<Uu1u2un> = Gu1 o G'ug ©:-+0 Gun (D>

00000D000000000000,0 U, 0000 VOoOOOOOOooooooo
oOo0booonooonDon

O(Upy) UP(Uy) C D(r)

gbb r<1000000
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OO0 w,weeDOOOOO

wp — W

5(11)1,’(02) = ‘

1 —’LU_1UJ2

OO00o0boooobooboooooobobooonogD 2150 Gy, G ODODOODO
00000000 A=XGo,Gr,r)<1 00000

5(Gz(w1), Gz(wg)) S /\(5(’(1)1, U)Q)

00000 ¢=0,1000 w,weD(r)OOODOOOOOO
obobooboobod

Gn—1 = Gus ©Guy © " 0O Gu,

Gno1 = Gu 0G0+ 0Gy,

dopooooogoog wl,wQGD(T)DDDDDDD 2150000000000
googog
|G (wy) — Gy (wy)] < CA™H

0000 C=2r(1+?)/(1-r)000000000000 ¢! 000000000
000

D(r) 000000000000000 MOOODOOO0OO0 weD(r)000O
(@7 (w)] < M

0000000000000000w, w, € D(r) 000002 = & (w,) 000
ZQZ(I)_l(U)g) oood
|21 — 22| < M|wy — wy|

000000% 000000 wy, wy O Gu_y(wy), Guoy(wy) 00000000z =
o Y(w;) (j=1,2) 0000

gn-1(21) = gn-1(22)| < M|Gp_1(w1) = Gra(ws)] < MOX™!

gooo
gbooboooobooagn

diam Uyyuy.w, = sup{|z —y| @ 2,y € Unjug.un
= sup{|gn-1(9u, (") = gn-1(9u, (¥))| = 2", €V}

4w DDDO D(r) 0DDO0OD0 10 vy 00 w, O000000D0D0OO0 ' 00000 20000
o000 (e Y (w)|0OODODDDOD MOODOOOOOOOOOODOODOODOOOOODOO0O
lwy —we| 00O00OO0DODO 20 -, 000000000000O0OODODODOOOOOOOOODOOOD
00 Mlw —w| 0000000000000000D0O00ODOO0
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00000 gu,(2), 9u,(y) € Uu, € 271(D(r)) OO

MC
diam Uy y.a,, < —— A"
A
000000000 M/ oooo ¢c=c,. 0000000 |

00000000ece¢ MOOOOODODODO K. OOODOOODODOOOOOOOO
(K., fo) OOOO (X,0) 0000000000000 O0O0OOOOODOOOOOO
gbobbuoowoboboogobobuoooobbbooooboo

OO00ceMOUOOOODOOD K. OOOODODOODOOODODODOOOODODOO
Ooo0o0o0o0oo0o0ooboU0bD K. OOoooooobobobobo fo.arCODbOoo
gbboboogooobbooobbuooobbbuooobbbuooobboboooobn
gboobooooboboogoboob

guooubobbooooog oboobobooo QSC:B(R)—}BDDDDDDDDDDD
00 Ge(z) :=loglo.(2)| 0000

Ge(fe(2)) = logloe(fe(2))| = logloc(2)]* = 2Ge(2)

00000000000D00z€ B, 00000000000000000000000

oboobb0»rneNDOOO
o) o eI
on
00000000 Ge: B, - RU{e0} D000D0O0D0O00 K. OODOOOO
(Green’s function) 00 0O O

000000000000000000000000
oG@BfﬁRDDDDDDDDDDDDDDDDDD@%+§%yM@EOD

e 2 52 K. O000G.(2) 0000000 e K.OOO G.(2)=0000
O000G.:C—ROODOOOOY

o G.(f.(2)=2G.(z) 00000

gbbobooogbbooboobbboodm

O0o00obb K. 00O coODOOOODOOOODOOODLODOOODODOODDOO
COO0O0000D00 o 0000K, 0000000000000D000O0O000O0
G.:C—»ROODODODDDOOOODOOOOOG2)=a>0000000000000
gbobobuoooobbbogobboboogobbbuodonbo

00000 0000000000000G.(2)~log|f*(2)|Y* 00000G,:C—R
0000000M30000000000z2+ —G(z) 0000000000000
00000000 390000000000000000000000000000
0oo

5000020000 (¢,2) — Ge(2) 00000 (¢,2) eCxCOO0O0D0D0000OO
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0 39: 00 z— —-G(2) 000 ¢e=-1,4,—-1+:00000000000
oooooooon

3.5 UO0Oooooooooonon

19800 000000000 (Douady) 00000 (Hubbard) DO OO0 OOOOOOO
gboboboogobbbuoooobbboooooooo

00 3.18 0000000 ®:C-M—-C—-D0O d)/c—1(c—oc0)00000
0o0O0O00oO

0000D0C-MOOO0O0ODO0O000000000000
|bo 319 MODoooOooD

DOo0O0%goooo000oo0C-MOOO0OO0O0O0000000000000000
goobooo

Oobooooooooo I BMOOoooooooo MObODobooooooMOO
goobboogoobobbooooobboboobobodoooobobbooooboon
oboooboobobobbmoo 1vgbooboooobooboobooMmMOuobon
gbobobooogbbbuoooobbboooon

DooboOd 3180 o0 0DbOoboboonoooboobobbobooboboboo
O000000000000000000000000000 (Jungreis, 1985)0 ¢ O
gbbbuoooobbbuoobbbooodgbbbuoooobbbuooaooboo

00 320 9:C-M—-C-DOO0OO0O0OO0OOOODOOOOOOOOOOO

(I)( ) 1 i 1 1 i 15 i 0 47 i
c) = ¢c— — R R coo
2 8 4c¢?2  128¢3 ¢t 1024cP

O00c"0000000 m/2»0000000000c 000000000

0pgoo0O00000 (Sibony) 0000 MOOOOOOO0OO0OO00000DOOO0O000000000
obooobOoboooooboobom
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OoOooob0 Mmoboooooboobbooboboobboooboooobo
obogboboobooboobgooboobobooboobd

3.5.1 00O 3.18000

goobobgobbd .suuugodgbgboboobobobbboooodgoan

~

Hy = C—M = H, U{oo}

D000D00B=C-DO0OOOD0OOOOOOOOOOOOOODOOOOODOO
$:H,—-BO0D0O0O0DO0O0DO0O0ODOOOODOOOOOOODOOOOOODOOOO
O0ce H,OOODOOO 31100 ce B, OO gbc(c)GBDDDDDDDDDDD

P(c) = @)

000000000000000 3.18000000000000000000000
0000000000000000000000000000000100000000
00000000000000000000000000000000000000
000000000000000000000000000000

00 |¢f>20000000¢.(c) 00000

e8] 1/2™
c
D(c) = ¢.(c) = ¢ (1+—> :
31 {fz=(e)}?
0000000000000000000000000 cO0|¢l>20000000
O000000000000000c—P(c)D000O0ODODOOOOOOOO ®(c)/c—
l(ce—»o0)000000DOOODODOOOOODODODODODOODODDOOOODODODODOOO
00000000Y0000®(c)=cc00000 c=co0000000

00 321 00 ¢p € Ho D m— 00000 ¢y 5 edMONDDDODOONOODO
0000 |®(cn)| — 10

00000 3.2100ce H, 0000000000 keNODODODOO |f5c)] =
ICi(c)) >200000000000000000 k000|C,(c) 00000000
0000000000000 1.100|C.(¢)] >4000000 n 000000000
¢c00000000On=n(c)0000000000

000000000¢, ¢ eMOOO0000n(¢,) oo 00000000000
000000 n(e,) 000 MeNOOOOOOO ¢ Cy(e)0 c00000000
000c0000000000000¢, — ¢ 00 Culem) = Cule) 0000000

"00070®o7 M (2) =2+ ,5,a,2" 00000000000000000000000000O
000000000000000000000000000000000



3.5 ggoboooooooo 101

00|Cu(c)|>4000000000 11000000 ¢€H,, JO0ODOOOO0O
0oooO

000 12000MO0O0O00002000000000000000000 ¢=
em—c 0000 |¢/<3000000000000R,=max{2,|c]} 0000000
33000000000 ¢.:B(R)—-BOODO0ODOOO0 1< |¢(2) <2200
0000000000 3.3000000000000000

6 f20) = {0} = {@(c)}*"
000 |£297¢)] = |Cag-1(c) <4000D0000

1< [P = |60/ (c))]
2| f1O(e)| = 2|77 (e)? + |

2(1/2€7H )P +lel) < 2- (47 +3)

ININ A

000000000000n(e,) —oo000|®(c,)|—10000000000
BO OO0 3.210

00 32200 ¢:H,—-BOOODOOOO

O0000 3.220000000000000000000000D000O00ODOO0
D00000000D000mMO00 wyeB—®(H,,) 00000000 O0D0OO0OO
D000000D0000000 w,0000000w, € dd(H,)NBOOOOOOODO
000000 w, »w, 00000 w, € ®(H,) OODOODODODO0O0OO00O0 ¢, € Hy
DO00000®(e,) =w, 000000 3.100

0 3.10: 0 &(H.)00000000000000
00000 ¢, 0 MOOODO dist (¢, M) :=min{|c, —¢| : ceM} 0000

0 = infdist (c,, M)
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000000000 D0DODMOOO0OOOOOOOOOO ¢,0oMOOOOOOOO0O
DO0000DmMOO0 6=0000000000000 {n(1),n(2),...} C {1,2,3,...}
0 ceMOOOOO0 ¢, »cE€M (@i —o00) J0000% 00 321000000
Wnpy| = |P(cay)| = 100000000w, eBOOOO0D
0O06>0000000000COO0MOOOOOO 000000000 EO
O00000000D0000000D0O0Y®Y000000¢, € E000DOOOODODO
Cuy = 0 € E0DDDDDD EC H, 000000®(c) 00000000 O(Hy)
000000000 000000 wae = ®(eaw) = wo=S(c) 00000000

we € 0P(H,,) 0ODODOOOOOOOOO
00000B=®(A,) 0000000000 WO 00 3.220

00 3.23 0000000000 XeBOOOOOOO X :=&4X)c H, 000
0ooooono
0000000 weBOOOOOOO ({w})CcH, 00000000000

00000 3.2300

00 X'00000000000000000¢,eX00¢,—c000006000
00 XO0OOODOO0O0O0O00%(e,)— ®(¢c)eX0DOOO00000 ce 1 (d(c)) C X
0000X' 0000000020000X' 00 ¢,—cedMOO0000000O0
000000 |®(c,)| — 100000000 32100000 ®(e,) € X cBOOO
0000000000000000000000X' 0MO0000046000000
D0000A,000D000000000002 00000000000 X = {w}
0000000000000 X'000000000000 X' 0000000000
000X c A, 000000000 ¢, —»c00000000000000000C0
00000000000000000

0000000000 f,¢:D—>COO000O0DOO0OOOOOOO 2,—52€D0
000 f(z.) =g(z,) 0000000DOOOOOO f=¢0000O

B000 MOODOOOD0O0O0OO0O000000Odist(c,q),M)—»000000000000000
00000 ey — | = dist (ca@y,M) 000 ¢ €M CcMOIDOD0O00000000 000 M
000000000 MOOOOO0OO0O0000000000000000000000000 ¢, 00
ooooooo

dist (,M) < 6 0000 ceCOD0 Ns(M) 0ODOO0OOOD0O0O0000O0 E=C— Ns(M)
00000000000000000000000eMOIOOOOOOOOOOOD 0000000
0(E)0 COO0O0O0000OO00O0O0O00000000000000O0O0O0OOOOOOOOOOOO
0000000000000 000000000000 70000000000000EOOOOOO
ooooooo

2l0Qp00O0000000000000000000000000000000O0O00000000
0000000000000000000000000000000000000

2200 3220000 EODODOOO-(X)00000000000000000000000000
ooo

0000000000 X0 MOOOOOO000O000000000X/ 000000000000
0000000000 MOOOOOOOOOOOO0O0O0O0000000000000000000O0
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000®(,)=wD0 $000000000 ®()=wl 00000000000
00¢:H,—»BO0D00000000000000000X =0 '{w)0000
0000000 WO 00 3.230

00 32400 ¢:H,—-BOOOOOOD PO A, OOOODDOOOOOOOOO
0000000000 Q=%P)0 BOOOOOOOODOOO

00000 32400000 0000000 POOOD peH,, 00000000
0 POOOO p,—»pO00000 @(p,)=000000¢0000000¥ 0000
0000000000 D0000000BOO0O0OOO &()=0000000000
00 &0 oo 0000000000000 0O0000000000

000Q=®P)0000 ¢qeQCcBOOOOODONODQOOOODOO ¢, —gq
00000000000000000 ¢00000000 XCcBOoOOoDOoOooooO
0g¢ e€eXO0000000000000000000000000 X' =6"4(X)00O
0000000000QO0000 &p,) =¢, 000 p,e PODOOOOPC X’
0000000p, 00 A, 00000000000000000000000000
oooooooooo WO OO0 3.240

00 3.25 00 ¢:H,»BOO0O0DOO0O0O00OO0DOOOODOOOOOOOO0O

0000000000000000000000000000000000000
000000000000

00000 3.2500P:=3 4(Q)>PO0OOD0OO ®|Hy—-P—B-QOO0O0O
D0000000000000000000000000000000000000
000000000000000000000000000000000 weB-Q
00000®(c)=wDODO000 ce H,, 000000000000 0OO0OOOO
000000 ¢ A, -P—-B-QODO0000000000000000 324000
POODOOOOOOODOOOOOOOODOOOOOO 000000000000
|:||:|23

0000000000000

00000 d>1000000000weB-QOO0000000 & '({w})O
000 40000

000 ¢ '({w}) 00000000000000 3230000000000000
00 weB-QODOOOO000000000000O0O0OOOO0O000000000
00000 we' €eB-—QOO0000000 x: 0 '{w}) -0 {w}) 000000
000

®0000000000000000000000000000000
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DDDI@%—QDD wd ' 0000000000 00000000 OODODODOO
DDDDDDDDDQDDDDDDDDDE—QDDDDDDDDDDDDDDDD
gobbbbbouooogobobbbbbboodooouuoooooooboboooo
gboboboogobobuoooobobogao

000000 ~0O00D0DDOOOOCCODODODODOD wy =w,wy,...,w, =w" O
0000000000oooo 3.1102%0

e 0w, 0000000000000 B,cB-QOOOO00000O0 & 4(B)0O
0000 ¢ '({w}) 000000000000000000000000000
00000000000000000

e 3,0000 J,B0~0000

0 3.11: 000000000000000000 POOOOOOOOOOO
o000 DOOoOoDboD

000¢ Y(w)00O00 ce H,—POOOO0®OD0D0O0000000O0cO0O0OO
®Y(B,)000000O0O0O0O0OOD V,00000®:V,—»B, 000000000
00000000000000000 yNnB,000000000000000000
0, 0000000000000000000000000000000000
00000000 He—-POOOOAO0®:7y—»+00000000000000

“0pDo00O00000000000000000
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D0000¥0000040 ¢c00000000 ¢ '{w'}) 00000000000
x(c):=¢ 00000040 «' 0000000000000000xY(¢)=c000
0000000000 y: ¢ '{w}) - o {wH)0D0DOD0D000O000¢ ({w'}) O
o'({«'}) 0000000000000000000 w, o 00000000000
00000000 d000000000O

00000®(c)=cc 000000 ce A, 0 c=000000000000000
~€eH,—POO0O0OODOd=100000000000 ®:H,.,—P—>B-—QOOOO
O00D00000000 ¢:P—»QO000000000DODOOOO0 &: Hy — B
00000000d=1000000000000000Q=000000000 =
000 3.250

O000O00O00000 3.18000000000 n

»O00000 400000000 v0O0D0DOO (lifting) 0000



40 OO0 otdun

ooobobobooobo MOobOooooboboboboobobuoboobooboo
gbobobboooobbbbooooobbooobbbooooobbboooobon
obobooobooboooboobooMObODbOOobDOoobobooobuobobobooo
gbbobboooonooooobbbuoooobbobooooobobboooobon
goobooooooboobod

gbbbbouooonoooobbbodgooobobbuoooobobobbuooogn
gobobobbooooooobobobbbooooooboobobbooooooooboooon
gobobboobobbouooooobbb2000bbobobbbodooooooboon
goobobooliobbbbdooogooboobbbooogooooooboooon
obogbgoobobooooboobobooboobobooboobooMOO
gbooboooobbbuoooobbobooood

gobobobbbouooogbobbobbouoooooobbobbouooooon
goobobbobbbbotbdoddooooooooobobobbobbodoooooon
gbobbobboooooobbbbbouoooooobboobouoooooboboon
oo

4.1 0OO0OO0OOO

0000 ceCOOO0O000O(f(2)=f.(z)=22+¢000000000000
10000zl >max{2,|c[} 000 ¢ K=K, 0000000000000 1.500
000z <max{2,|c]} 0000 KOOOOOOOOOOOOO0O00000000
000000

000000000 KOOOOOOOOOOO0O00000000000z2eCO
00 (orbit) 00000000

O(z) = {f"(z)e@ : n:0,1,2,...}
00000000000 1.5000zeK 00000000000
O(z) C {weC: |w <max{2,|c|}}

0000000000000 f(»)0000000000000000000000
00000 NOOOOfN(:) 000000000 max{2,|c]} 0000000z€ K

0000 (forward orbit) 00000

106
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00000000000[f¥(z)| >max{2,|¢} 00000000000000000
0000000000000000000000
00000000000 000000000 KOOOOOOOOOOOOO00OO
00000000000000000000000000000000000000
00000000

4.1.1 O00O0O0OO0OOO

000 (f,C) 00000ze COOOO (periodic) 0000 00D (periodi point)
00000000000 nO00000O

@) = 2

O0000000000000000 nO0O00O0O 2000 (period) 0000000
O0z00np-0000000000000DOO0O0DI-DO0DOOOOODOODOOO0
O000fixed point0 00O OO0

000000000000

0() = {z f(2), .../ ()}

020000 (cycle) 0000000 z2=000 f(oo) =00 0000000000
00000 zeCOO0O0OOO

2= f(2) = o e ) e 2 e

O00000000000000O0(z,)cKOOOO

00 w(eC)OOOOO (preperiodic) DO0O0O0O0OOO0 m>000000 f™(w)==2
00000000000 0DO0DO00O0DO0D0o0bOO0oD0o0bO0ODOweCOOOO
gooodbbooboboooboobbobooobbooobboboD we KOO
gooooooo

gooooooog

OO0 4.1 20000 fO0000DOOCO0ODO0OOOODOOOOODOODOOODODOOO
OO0 KOODOOO

00000000000000000000000OoooooooDoD (f,C)ooo
Ooobooobooooooooobooooboocooooooboooboooo

gobobb 0000000000000 n-O0000000O0O0ODOOOO0O0ODO=
O0000000000000000 O(x) b000Doo000oooooooooO
gboogo

0000000 0000000 0000000 fM(2)=z000002"000
gobobbobboougooooobbbobbouoooooobbbobobbobon
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0000 2"000000000000000000000000000  f(2) =20
ooooobgbobobboobo0000000000O0DOO 27000000000
gbobogdboogobooboobboobboobooobobboobboobn

00 4220000 f=f0000000000O0DO0O0O0O0ODOODODODODO
DO00000 K=K, 000Ohoooooooboooobooobd

00. D0000000000000000000000000000000000@
000000000000 NOOOOOOOOOOOOOOO0OO0OO0O0O0O0pO N<p
000000000C00O000000000000 f(z)=:0000000 2?00
00000000000000000000 p00000000 1000 p0000
000000 p0000000O000C0O000OO0000000 p0000000O0O
000000000000 00000000000000000000000000
000f00000000000000000 o, 0000000000 py+py = 2?
0000000000 py, p, 000000

)=z = = (== B
gbobooodob pb2000000p,>1000000000000
Pl —a = zmat(z=a) (= B)”

D000000002z—-a000000 z2—000000000 (fP)(a)=100
0000000 () () ={f()}’000000000000000000OOO f'(a)
010 p000000000¢q>p0000000 ¢q0OOO0O0ODODODOOOOOO
flla)0 10 ¢0DO0O0O000D0D0DDOOO0%000 fo)=100000000

0000000 «00000000O0a=(1+V1-4¢)/20000000000
flla)=2a=14+4/1-4c000c¢=1/400000000000000a=8=1/2
0000000

fz) =1/2 = (2= 1/2) + (2 — 1/2)*

D00000000f(2)—1/2=2-1/2+(>—1/2?00000000000000
oooo

f(2)=1/2 = (z=1/2)+m(z — 1/2)* + -+ (2 — 1/2)*"

gboboboooobbbubbbogooboboooon |

N000000000000000000000000000000
3fi(z2)—z = (z—)n(z— @)= 000000000000 ¢ <100000000000000
0 ¢000000000000 p0 ¢qO000 0000 p1,qq>200000
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4.1.2 0O0O0O0O0O0OOO0OOOO

000 o0 n-000000000000Of:2— f"(2)0 «a0000000O0O0ODOO

f*(2) = a+ (" (a)(z—a)+ o]z —al)
000000000 f(>)0000/0000000M@00000A= ), = (f")(a) €
CO00D00100000 zxa 000

f"(z) —a = ANz —a)

Oobobodbb0e0oboooooboMO0b0ob0oob0 AOObOobboobogon
000000000000 A=000000000000MOO0O0O0O0O A=(f"(«a)
O000 « DO0OO0O0O0O0O00ODO0D00O0000000 multipieeD 0000
000000 « 0000000000 DOO0000000OD0ODODOD O(e) DOOO
gbboogobbooobobbuooobbuooobboooobboooboboobn

a, = f"(a) (n>0)00000000000 {f(f )Y = F("12) - ("1 (2)
0000000000o0oo0ooon

A= (@) = fila) f(fla)- f(f"H(a)
= fao) - f(ar) - f'(an-1)
goooooooooooodgd
Ola) = {a=ap, a1, ...,an_1}

Ooboobooboooobooboo aoboboooboboooooobooogoo
gbooboooobobooooboon

gbboboodgbbbdog buoogbbbuoodobobbuooil1gbbboooobn
gobbuodgbbodgboouoobuooobbodboouobbodoooboonbn
gbobbobbbooooobbbbbuoooooobbobbbboooooobobon
gboobogoobobooad

e 0<|A\ < 1: 00O (attracting) 4
e |A|>1: OO0 (repelling)
o [N\ =1 = A=¢¥ () eR): 000 (indifferent):

— 0 e€Q: 000 (parabolic)
— e R—-Q: 00000 (irrationally indifferent)

{00000000000000000000000000000000000000000000
goood
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gobbobbbouodgooooobbobbboodg 20b000oooobobooon
00000000000000000000 A(k)=X+220000000
gbobobuoooobbobouooobbbooobboboooobbobooaoy

0000000 o0OO00 nODO0O0O0D0OOOCANDOOODOOODOOOO
f"(z) = a+Az—a)+o(|z—al)

000000
[f*(2) —al = M|z —af <[z -«

gbbodbudgidbdebboobboobood n0obooob boogbo
gbbboubboogobbbuoooobbbooouoobbboo

[/"(z) —al = [A+o(1)] - |z — af

0000|A+0(1)|]0000 «00000000000000 |A00O0O0O0OOOO
D0000000|N<100000 [AM<A<10000000 A0000000O0
0 00000000000 r000A=D(e,7)0000002€eA000000
A+0(1)|<A<1000000000

[f*(z) —a] < Alz—af < [z-0
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—L’espoir, c’est de savoir, dit Reb Mendel. —Mais ses disciples
n’étaient pas tous d’accord avec lui.
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—Encore faut-il nous entendre sur le sense que tu donnes au mot
< savoir >, dit le plus ancien d’entre eux.
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—Savoir, c’est questionner, répoindit Reb Mendel.
O0o0ooooooooooooooooooooo

—Que tirerons-nous de ces questions ? Que tirerons-nous de
toutes les réponses qui nous entraineront a poser d’autres ques-
tions, puisque toute question ne peut neitre que d’une réponse
insatisfaisante ? dit le seconde disciple.
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—La promesse d’une nouvelle question, répondit Reb Mendel.
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—I1 arrivera bien un moment, reprit le plus ancien disciple, ou
il nous faudra cesser d’interroger, soit parce qu’a notre question
il ne pourra étre donné aucune réponse, soit parce que nous ne
saurons plus formuler nos questions, alors a quoi bon commencer
o
godooooooooooooobboobbobbbobboogd
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—Tu vois, dit Reb Mendel, au bout du raisonnement, il y a tou-
jours, en suspens, une question décisive.
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—Questionner, reprit le second disciple, c’est s’engager dans la
voie du désespoir puisque jamais nous ne saurons ce que Nous
cherchons a apprendre.
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— E.Jabes “Le livre des questions” 000000000000



